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4 codp) Defermine o Jordar- caroniesd. Foum for sthe
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@) Let Af-’[f é ?} Find o basis for the nufl space of
03 4

A and o, basis For the. Yunge 5‘§ A
(b) Determine +he hu”ff{?. and rank éf A.

3, (30%) let A be a 3;<'3 moattix such el /4?'-'*(2

(@) Prove +that the column spact "’f A e comtained h the
null space of 4. |
(b) Use +his and the rank-nullity. theorem <o shoty +hak-
pnk of A musk be O or . |
©) Use +his to show o all the vows of A must be
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Fd}mo@;aﬂ of A IS P(A)ﬁ:‘fﬂ ;

of A with respect#d=-2 19 [2].

(a) Hind o basis for the -eigenspace E, for A=1. |

(b) Show that A Is diagonalizable by finding mattieeo 5 adD
such that SAS=D whewe D 5 a _diagonafl mathix oF

cxpain thot A 15 10t LB S g n

4. 20%) Ler A= [ L-3 3} You are given -that the Characreristic

~12C 2), and an egervecter
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(@) Detewnine whether, the subset ef R y

W= { [:;,] : x,—-S’x;.hﬂ’x_g:-o} (s a subspace G‘f ﬁ-‘?
X3

Explain wh?,
) Caleulate -the dimension oﬁ W where

?. W-"‘{ [Q]: ?f:ﬂz;\*g}, Show qout weork,
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